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] FIARJI Al HEEMES 141.4| BE#0| 39%| 3R 1,400 — 671
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INFE FIAR)II FIAR)I RREAR—ILTAVIR 406.0| BBF0| 334 128 855 — 145
A8 FIAR I Al RREAR—ITAVIR 205| BRF0| 64| 9A 13,600 — 487
5% FUREI Il RREREAR—ITAVIR 31.2| Frk| 174| 128 19,189 2,220 256
=iEF FIAR I BRI HEEMES 472.0] RRF0| 484%F| 8AH 689 92 65
2iRA FAR I EiRAI HEEMES 215.4| BAF0[ 564 48 117 14 41
G FIAR I AR -oaalitl 13.1] BB#0| 334 128 1,600 250 564
EiE F F HFRHFEEHASHISFEEEM| 893.0| BBF1| 39%| 68 3,501 — 581
iR F RiR)I RRRENASHIEFEERR 429| BBF0| 35%| 2R 110 23 34
#K FUREI iRl HEEMEDS 15.8] FB#0| 434| 58 502 209 187
INVATA ZEI| ZE)I HRAVKED 262.9] BAFO[ 324F( 118 189,100 9,000 6,536
HEEEN HEEEN #HEEAET 1,016.0| A% 22%| 68 63,200 3,800 19,456

BA FEAE)I HEEEN HENETEFT 1,039.4| BRFN| 185 | 128 2330 113 382
B & BB HENETEFT 112.5| BEF0| 304| 3K 1,525 633 1,019
N34 R SEN RREAR—ITAVIR 59| KIF| 34| 108 1,692 — 918
7Ll =1 )il EN eI 172.0] BB%0| 32%[ 47 2,400 1,640 2,065
=1 [Sepl] BAZESEHRKSH 99.7| BB#0| 42%| 37 13,650 6,000 12,496

fhioT =1 EE BARSEXRASH 33.6| BRFO| 274 [ 12R8 7,592 — 1,732
FARE EEII Tl RREAR—ITAVIR 7,020.0| BRF0| 14%| 118 1,546 — -1,101
B EEN SR 178 T ek B X 20| Frr| o&F[ 7R 216 20 6
22X EEII 2XJIl BitEAGAEH 118.0| HA%N| 24| 2R 1,454 — 1,315
f IR EEII BRI BiEA%ASH 373.0 BAF0[ 16| 58 1,857 — 1,276
EE3A B BATE BF )10 RiENGAEH 6,264.0| BA%N| 34| 11H8 16,525 — 6,287
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g BEJI| BEJI| B8 2R 55.8| BR#0| 544 3A 10,600 1,400 1,844
—_E EEII BN EREAREA S 107.8| BB%0| 52%| 6H 18,300 6,500 2,092
EXJINE— EEN EXJI BRI FEEA S 106.1] BB%0| 32%[ 128 42,845 - 2,529
EXIIFE= EEII 2 EREAREA S 83.8| HR#0| 384 | 118 60,000 - 4,771
JI|F8 EEN BRI JIFE Lk B X 1.7] BB#0[ 53%[ 98 1,215 21 34
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=i EEN =3I BRBENR—ILT1UTR 131.0| RBF0| 534%]| 12H 76,200 37,400 23,579
Z=)IE EE)l Il BRahh—ILT4F R 380.5 MBFO[ 444 38 123,000 43,000 12,717
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I ERII Bl BRBENR—ILTAUTR 2,467.0| BBFN| 324 | 11H 3,033 = -272
/NEL] =N E BmBhR—ILT1VT R 2,787.0| BBFN| 294 | 8A 2,546 - -276
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T ERII Bl BREBENR—ILTAUTR 2,760.0] BBFN| 29%| 5H 2,755 = -591
3D EEN /7)1 BmBhR—ILT1VT R 3.8 BB#1| 3F| 7R 58 - 8
iR E)Il N HRahh—ILT4F R 77.3| BAF0[ 30%]| 118 220 = 202
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IME el =] TEEAGAESH 36.6] FB#0| 354%| 118 920 236 338
Ehva EEEF)I VAT TEEA%ASH -| 7 4% 48 26 - 7
Frehith il HEEEF)I FEN TEEAGAESH 79.6] MBF0[ 344 8H 171 63 124
il @) FHHEII BELEMER 65.2 | BBF0| 374 28 111 18 68
INE @) FHEI BLERES 92.4| BBF0| 384| 5A 300 20 122
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FIUIE= FEI FEI TEEAGAESH 254.4| BRFO| 544 7R 2,120 200 200
o = Bk FEI R TEEAGAESH 135| BB%F0| 10| 9R 12 - 4
EOE—EUK  [FRII EF TEEA%ASH 101.2| BBF0| 134E[ 128 21 - 7
&R UK FEI B TEEAGAESH 1744 KIF| 154%| 58 14 - 9
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= BT 28 27 )11 AR TRARKASH 1978.8 | AAFN| 36%F| 118 27,000 - 10,013
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= BT 28 27 )11 AR BhEO%A=H 2467.0 | BRFO| 214 | 128 20,500 - 4,105
X BT 28 27 )11 AR HEEEO%AEH 2142.0 | BRFO| 29%| 6A 25,769 - 8,095
HhE BATE B5 )10 HEJ HEhEOhrAEH 2700.0 | BRFO| 284 8AH 24,309 - 4,862
LI BT 28 B5 )11 BaT 2 )1 BEhEOtrAEH 5727.0 | BAF0| 184%| 28 7,591 - 615
Rl BT 28 B5 )11 KRB TRARKASH 17.4 | BB#0| 43%| 118 1,825 280 389
PN=] BT 28 B5 )11 AR TRAREASH 542.9 | BR%0| 384 10H 15,800 - 4,158
= BT % 23 )1 =1 BER 409 | RB#0[ 375 38 2,325 73 62
AP BT 28 B5 )11 AR BiEOtrA S 2765.0 | BRFO| 28%| 8AH 16,172 - 1,409
BH¥E BAT 2 BF )10 AR TRAREEASH 702.3 | BR%0| 34%| 3R 494,000 - -4,479
HA BT 28 B5 )11 AR TRARKASH 7422 | ERK| 15| 48 4,500 285 418
N BT 28 B5 )11 INERII TRAREASH 3.7| mB#0| 634 48 18,500 - 232
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K I I EREEEERAESH 395.7 MA%O| 36%| 1A 365,780 6,700 13,177
ThE @ INEJI B E A4t 161.7| FAFN| 484 3H 123,037 22,713 7,096
£ @ =JI| B E AKX 4t 7245 BRFO[ 30%E[ 18 879 134 220
FATAN @ 7 ELEFBERFEEHEAESH 137.8| BBF0| 29%| 1R 174 - 109
i H #E =R TEEIHBAESH 472.0( RBF0| 175 48 331 131 10

X&=)I X&) hEELKEASH 3,650.0| MAFN[ 274&| 1H 42425

RE X&) X&) FEEHHEASH 2,980.0| MBFN| 114 18 10,761 — 7,996
[Ii]=] &I AEN B E AKX 4t 1,534.5| BREF0| 32%| 128 3,484 1,381 2,226
SR AEN A& B E AKX 4t 1,341.8| BB#0| 35%| 118 4,358 1,305 2,582
A= AE| FEN B E kXS4t 578.9| RBF0| 434 | 1A 4,367 2,326 2,295
i AEN FEN B E kXS4t 553.7| BRFO[ 16%E[ 9AF 1,288 244 770
=iz xE)I| =) EHERER 377.4| BB%0| 33%F| 3K 2,310 780 1,165
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= A& E&z: B E kXS4t 735| BRF0[ 18%E| 4A 65,065 — 524
B2E xEN F=v Il FEE LA 88| MAFN| 12%| 128 305 — 185
ESE A AEJ FEN BB A% EH 114.2( BEF0| 20%| 68 589 114 284
FEEIN AEN FHR)I BB A% EH 54.0| RBF0| 524 118 803 598 483
XH* A& A& B E XS4t 2,083.0] KIF[ 13%| 128 29,400 12,381 21,446
AR AEN B FEE LA 486.2| RRF0| 28%| 8H 4,631 3,629 2,900
=1 AEN AEN BB IS 1,747.0] XiE[ 15%F[ 128 3,872 424 1,932
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HEH AEN FReEE) 1| hEE AR 770.0( BBFO[ 29%([ 128 1,065 515 364
B AEN AEN BEFRE Ak &4t 2,301.2| BA%0| 14| 118 14,121 5,030 3,632
I3 AEN FreEa )1 hEE LKA ESH 2,159.0] BAF0| 124 128 14,492 13,343 2,272
SiRE2 AEN FReEE)1| T EHEHIHASH 173.0] BB%0| 44%| 3A 11,927 6,141 1,639
AREF AEN FreEH )1 hEE LKA ESH 229.0| BBF0| 374 118 1,247 852 176
EiH AEN FreEH )1 hEE LKA SH 225.0| HRFO| 284F| 128 25,513 3,000 2815
BEHEIE= ABJI| BEE hEE LKA SH 279.0| BRFO| 514 6A 9,736 3,293 652
T AEN sl hEE LKA ESH 83.3| FBFO| 294 | 48 17,584 608 1,306
=R RAEN FreEE 1] hEE LKA ESH 125.0| BB#0| 44%| 118 43,568 9,555 2,590
T E AEJI R I ITBCEAKE RHE 1.4 | 15FE[ 78 2,260 41 25
NG ABJI AR W ITBUEAKE RS 6.1 BBF0| 364 3A 3,313 — 33
I AEN K& BEIFRE Ak &4t 2,452.0| BA#0| 18%| 12H 9,392 2411 -1,917
SiE AEN K& B E Ak S 4,632.3| BAFO| 144%| 38 9,470 2,631 -2,543
Gk AEN E# hEELKEAESH 163.3| AAF0| 13%F| 9A 276 76 89
=SES AEN 2ERI T E AR 106] KIF| 8%&| 3R 39 39 39
HE AEN RAJI 1ETUB%ASH 33.9| mB#0| 10%| 128 215 — 104
F5E K3 SEXRIN hEELKEAESH 1320 BB%1| 104E| 108 4,950 — 4843
PN RN SEXRIN hEELKEAESH 201.6| BRFO| 134F| 128 1,519 — 1,415
B RFIII JIAREE)1] hEE AR 120| BBF0| 194 | 3K 1,173 — 761
R R R hEE AR 68.0| BBFN| 354 [ 118 6,340 — 3,967
HER R RFN FEE AR 464.6] BBF0| 314 18 3,150 — 1,659
e X&) xEN TRARKASH 4,490.0| BAFO| 33| 7R 34,703 12,377 11,593
Y 2 5 — R RN hEE AR 318.0| BA#0| 374 9A 107,400 — 49,194
X&)l xEN ERARKASH 3,827.0] mAF0[ 314 108 326,848 66,213 130,047

MHEESE — R R hEELKEAESH 329.2| mBF0| 364 8H 11,400 — 4,279
D] RFN FARI hEE AR 470| Fgk| 2% 38 3,090 2,960 1,918
Eaglll R RFN hEE AR 459.3| B0l 324 9B 150,000 — 47,059
KE xE KZE)I ERARKASH 57.6| BBF0| 444 68 29,981 2,500 9,976
e B8R X&) xEN TRARKASH 4,895.0| RAFO| 524 4A8 14,578 — 1,824
X1 jc £ st XJI| hEE AT 240.9| BB#0| 114E]| 108 987 — 804
HERIIE= R BRI hEE AT 9.3| mBFn| 114| 108 32 — 0
HE EHEN EHEN PREL AT 900.8| RAFO| 44| 128 2,876 — 1,068
N 2)l FE)I| ML ITBUEAKE REERE 85.3| MB#N| 364E| 68 1,096 436 386
EEE— EEN EEI fEE AKX E4 514.2| BBF0| 464 28 4,354 — 479
£H EAEN 2/l hEE AT 7.7] BBF0| 534 98 11,088 — 347
PEEid EEN Bl EHEEMOKER 51.3| MAFA| 38%| 38 19,363 902 318
FiE E FE)l T ITEUE A K EBE 26.3| FB#0| 334| 128 29,110 690 795
AE 2)il NI IR STTBGE A K E BHERE 184 Fpk| 12%| 38 12,300 1,000 393
AfEZ a1l HEWI B ST TBGEANKE BHERE 6.9| BB#0| 584 27 3,047 45 97
ENIES =JI| TEIBI hEE XS 7.8| BBF0| 374 | 38 71 31 40
—EN =JI| =JI| hEE XS 190.0{ FEFN| 42%| 38 13,100 5,315 5,179
EN] gEE Z)I LEEARXEH 55.8| MB#0| 314E| 128 1,526 1,310 1,412
[N gEE gEE TEE A 421.9| BBF0| 43| 58 4,100 1,400 816
= g8E)Il sEE) ERARKAESH 191.6] BA%N| 43%| 58 9,735 209 220
EeL =] sEE) Ex =0 ERAREAESH 96.8| BBF0| 43%F| 5A 917 477 840
LR 85Il P =10 R an 142.7| BAF0| 43%| 58 900 244 600
INE NLEEE)I| Al TiEEIHBASH 11.8( BE#0| 394 108 122 80 113
R I X_EJI RE)pELHHBER 31.2| BBFO| 21%| 128 4500 900 911
KIBEF R ) HEE 131.5] BEFN| 474| 108 22,741 757 2,049
F0%0 HEI BRI BIFRE Atk &4t 573.0| ARO[ 43%[ 128 5,119 1,404 734
B I E8)I B E AKX S+t 0.9 BB#0| 45%| 78 1,227 — 467
HEII HEI BRI B E A4t 5950 KiE[ 134 48 958 557 649
Z2RBEXR =1 Z2RBXR)__|EARELIKEASH 13.4| BEFN| 474| 128 19,435 418 720
| it = )il R EMKEATEENRD 38| k| 1£#£| 118 13,500 172 133
Jila =)l BEFT)II BEFEE Atk =4t 30.6| PAFO| 15%| 118 1,113 - 958
hE =)l HEEFII B E AKX S4t 111.4| BBF0| 12| 9K 1,137 — 741
—E% =l HEEF)I| ERAFREAESH 356.0] ARO[ 36%E[ 128 39,081 7,103 14,501
BE =)l HEEFII R CE st 445.0| BBF0| 354 | 9A 113,893 7,588 21,881
X ol ol EMKEATEENRD 114.8| RBF0| 48%F| 9H 27,750 1,050 2816
B F;EI HEJII B E kXS4t 39.2| RBF0| 534 | 27 15,469 — 1,022
RA =l Eo)l| EEEEMRKAS4 71.0| BBF0[ 37%| 4A8 71,358 1,747 -2.056
R = Jeil)il ERAFRKAESH 277.0| ARO[ 39%| 9A 323,635 32,111 -895
RS )il ZED EMKELREERE 38.8| MAFN| 37| 58 25,650 1,050 886
EE = B EREFE®ASH 34.0] mBF0| 354 98 175 86 167
Al = Al ZBEmH 5.2| BBF| 44%| 78 797 104 72
i I B3I EMKEATEEHRD 18.9] Fgk| 134 128 5,600 480 56
LI Ll FAEREI IWHAA LT BEX 16.4| BEF0| 324 108 3,400 30 2
£t = Jel)il EEEEMRA S+ 162.0] FEFN| 40| 7H 61,104 2,903 3,541
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Eﬁ@ FHRI FZXN ERERER 22.4| RBF0| 35%| 128 612 298 295
=& FHRI B[] FEEA RS 22.2| BBF0| 124| 8A 178 — 109
N HEFI ENE I hEELKEAESH 64.9| BBF0| 154 68 495 — 300
TIE BEJII =EF I STATET, KFi. KIUET, (REHET 13.0] Fnrk| 13%F| 128 3,860 420 110
=5 LFIII LRI EREERER 117.5| BA#0| 284 10R 3,438 2,300 2198
BaT )11 L& (e T EEIEARH 66.7| BBF0| 174 88 1,085 — 342
ER IO I T EEIHASH 3,000.0] mB%n] 29%F| 2H 11,200 — 666
A& LFIII | I ETKER 40| BRF0| 32%F| 4A 1,421 93 28
AR LFII SV BHEN T HMBHER 39| FEpk| 45| 3R 790 120 34
FA LFII &R WIh ETKER 154| KIF| 74| 3R 387 8 29
XE LHFN = T EEIEARH 140.2| BBF0| 31| 68 23,470 — 1,778
I 22 BRI T EEIEARH 615.7| BAFO[ 434| 118 127,500 10,600 6,795
25 =2 BRI T EEIEARH 710.0| BAFO[ 434F| 118 1,280 — -4
BER =Eadlll Feradll| hEELKEAESH 9.3| BB#0| 3%| 5A 1,853 — 227
= I & HEM 6.2| MBF0| 574&| 68 1,140 100 20
HR 22 BRI T EEIEARH 631.4| BAFO[ 43F[ 118 7,620 220 275
TH HEJII TR FEEARAESH 1.8] MBF| 614| 108 7,680 37 -39
70 AEJI HBJI| T EEAHASH 283.5 BBFO[ 29%( 128 951 — 95
EiR =2 B3R EArihn 6.7| BRFO| 43%F[ 3K 1,039 40 119
2/ =2 /Il HEH 10.8] AB#N| 26%| 3K 1,234 182 35
2K eradlll 28 ] L2 49.2| BBF0| 42%| 4H 6,000 425 667
AE eradlll il E &N 0] 62.2| BRF0| 48%| 5A 4,400 600 373
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g AHJI S| fEEA%KSHH 123.7] BB#0| 34%[ 47 31,100 799 1,133
=25 IR R TEEHIEAEH 156.7| BA%N| 244 | 12H 39,658 955 1,401
B AHI LERJII TEEHIEAEH 39.5| BR#FO| 324 118 20,600 228 416
R4 JNEE)I JNEE)I TEEHIEAEH 29| BBF0| 7€ 9A 1,790 — 21
HR AR BRI FEEHIEAEH 12.0| BBF0| 504 | 118 5,658 35 126
BR # AH BRI TEEHIEAEH 1.4 BB#0[ 515 58 6,145 18 63
S AH AHN T EEHIEAEH 146.8| BA%N| 14%| 68 455 66 198
=48 =tadlll BB MEZE LKA EH 249.1| mB#0[ 34%[ 48 299 90 -49
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